MA 114 Exam 3 Fall 2018

Name: é pg f&/{h § M e:? Section:

Do not remove this answer page — you will return the whole exam. You will be allowed
two hours to complete this test. No books or notes may be used. You may use a graphing
calculator during the exam, but NO calculator with a Computer Algebra System (CAS) or a
QWERTY keyboard is permitted. Absolutely no cell phone use during the exam is allowed.

The exam consists of 10 multiple choice questions and 5 free response questions. Record
your answers to the multiple choice questions on this page by filling in the circle corresponding
to the correct answer.

Show all work to receive full credit on the free response problems. It will also help you
check your answers to show work on multiple choice problems.

Multiple Choice Questions
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MA 114

Exam 3

Multiple Choice Questions

Fall 2018

1. (5 points) Find the average value of the function f(z) = sin(z) on the interval {r/2, ].

A =2/m
@2/W
C.0

D. —-1/=
E. 1/m

2. (5 points) The base of a solid is the square S = {(x,y) : 0 <z <2, 0 < y < 2}. Suppose
that the cross sections of S by a plane perpendicular to the y-axis and containing the
line y = o are rectangles with height 3a. Find the volume of the solid.

A9
E)
C. 18
D. 24
B. 36

g (3&)1, dq = [3‘{1
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3. (5 points) We create a solid ball B by rotating the region between the curves y =
v/25 — z? and the z-axis about the z-axis. We slice B with a plane perpendicular to
the z-axis and containing the line with equation z = 4. Find the area of the resulting
cross-section.

A x W &w%swﬁ-ﬂoﬂzwb “ oL G(J(‘.S)Q

B. 4r cvf rodiie (as—4t =3, Thwns
2

@9” Ha oreas by T b =9

D. 167

E. 257

4. (5 points) Let R be the region bounded by = = y? v = 0 and z = 4. The region R is
rotated about the z-axis to form a solid of revolution S. Use the method of cylindrical
shells to find the volume of S. Select the resulting integral.

A. 2%/.2'9(4—92) dy 3/\ Ceyrtme E}f_} ¥
0 Q‘. Mé\k . \i'

2
B. 2?rf y(2 —y*) dy
S

D ﬂ/0416—y4dy Q.
E 27r/4y2(4—y)dy V&Q(S) = g(;zn'%)@hgl )'7"3(

5. (5 points) Find the length of the line segment with endpoints (1,2) and (5, 5).
A3
B. 4
©)s
D. 7

E. None of the other answers are correct.

VE+ (32 = Vas = &
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6. (5 points) Three masses are located in the plane. The first mass is 2 grams at (0,0), the
second mass is 4 grams located at (3,0) and the third mass is 2 grams located at (3, 4).
Find the center of mass of the syster.

A. (3/2,2)
B. (6,8/3) m= L+h+x="% @ a
C. (1,7/4) _ AN e = :'

(9/4’1) Y = -\—8-(&2*01-4-5—‘"13) e 4
E. (8/3,6) 4

| _ _ 2=
"\é‘: (2o b0+ Th)=¢

7. {5 points) Consider the curve with parametric equations z(t) = #*, y(t) = t* — ¢t + 1.
Find the slope of the tangent line to the curve at (4, 7).

A 3/4 W o (:-{-:L’ -Esm& +\\;(Lt|7>‘ We l'\guq-{__
o fox2 {2tel = x€rl So £=2)

C. 7/4
D.9/4} M*btu,ie %qu
di_ dy/e 3L

e

o T dy /M A
7.2 - _ \\/
%T{:l’m.slow% 72 4
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8. (5 points) Find parametric equations which describe the circle centered at (2,1) with

radius 3. ‘
w(t) = 1+ 3cos(t), y(t) = 3+ 3sin(t), 0 <t < 2x
z(t) =1+ 3sin(t),y(t) = 3+ 3cos(t), 0 <t <2x
z(t) = 3+ 2sin(t), y(t) = 3+ cos(t), 0 <t < 27
o(t) =1+ 3sin(t),y(t) =2+ 3cos(t), 0 <t <n
@r({):2+300‘3( ),9(t) =1+ 3sin(t), 0 <t <2

Sihee e condie ot (21) ,the corred
Qﬁuﬁi}t@vhm

9. (5 points) Let C' be the line segment with parametric equations z(t) = 3¢, y(t) = 4t, for
3 <t < 5. Find the surface area obtained if we rotate C ab01_1_f_;_ the r-axis,

D ]
! (rcss]es -Jrore

C. 2807

“Jlwns S= L{Oﬂ“%] =

10. (5 points) Find the value of @ so that the curve with parametric equations z(t) = 2t —1,
y(t) = at® — ¢ contains the point (1,1).

2 Frome  U-l=1 we stk +=|
C.3 T ot -t=a-l=| ol A=
D. 4

B. 5
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Free Response Questions

11. Let R be the region enclosed by y = 3 — z? a.nd y = 2 The reglon Ris rotated about

the z-axis to obtain a solid of revolution, S. -

(a) (5 points) Write an integral to give the volume of S. Indicate clearly which method
you are using.

(b) (5 points) Evaluate the integral and give the volume of S.
]

Vel ($)= 71 SKS““G*L’CYL‘IOLX

~1

5 f,l\z.a)t f}m\ =
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12. Consider a lamina H which is the semi-circle enclosed by 2% +1? = 4 and the z-axis and
lies above the z-axis. Assume the density of the lamina is 5 units of mass per unit of

area.

(a} (7 points) Find the total mass M and the moments M, and M, of the lamina H.
Hint: You may use geometry to evaluate the integral for the mass.

M= G Area(R)= 2 (rrlﬁ,.ton-—

My =0 P 5‘&”%

‘ " Lw-w-—
M:rf: 2 S(ﬁl* Jax = 5 L 3 3
- 5»[3_

(b) (3 points) Find the center of mass for H.

(%, §) == (5,72 )= (D

. go/f3 &
G nee : = 3
ot

=

¥=0
QO

qri—

"3
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13. Consider the curve C given z = ¢* for 1 <y < 2.

(a) (5 points) The curve C is rotated about the y-axis to obtain a surface of revolution
-S.. Express the area of S as an integral... ..

A

T

e § Gredsd = ar PN

[ | |

(b) (5 points) Evaluate the integral to find the area of S. [0

: ¥
g =
ANy - du:.zétf’ﬁ“&'
2
W(S)ZEL SW&M ga:| = uy=I0
{O a_: = u= 4SS
U= 148D
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14. Consider the curve C' with parametric equations z(t) = 2¢/1 — {2, y(t) = 2t, 0 <t < 1/2.
(a) (5 points) Express the length of curve C as an integral.

-t 94 -2
x=RVi—t" *'= 755 y=2+

[ 2
, 4+t V::'di':w-—-‘“OUC
ds=Y =g+ M= 21 e I

So ‘/S% o At

{(b) (5 points) Ewvaluate the integral in part a) to find the length of the curve C. Hint:
The curve is part of a circle, so you may check your answer by finding the length

without calculus. However, to receive credit you must use calculus.

Wé fﬁ;%mg
| = S 2 ws 040 o\éfz wog © ol
, w0 628 <%
"1t _ oe B
N~ Vi—t
=% 6 3

Page 10 of 11



MA 114 Exam 3 Fall 2018

15. Consider the curve C with parametric equations z(t) = 2¢t — 4 and y(¢) = * — t.

(a) (5 points) Find the tangent hne to the curve at the pomt (:c y) (2 6) Put your

-answer in slope-intercept form y =mz4-b.

MV SO Vi Sl
Yv —  — = —
R oy [ ot L

':..—-g—-
(A=t ,Ft)=(26) (o t=3. T M=

G

(b) (5 points) Find the poiut(s) on the curve C' where the curve has a horizontal tangent
line.

e‘.._'

.
2w
-

L
2

m = O \L/t\-Q/(A/ &‘(‘—*\:—O )
ol (k{a): (""3;”’/4)‘
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